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1 /fhs'df/ xl/hg demufjf 2 ;'vf/L rdf/ ;'lgtf xl/hg 070.7.25 k'= 112

2  ggbgL xl/hg demufjf 2 xl/rGb| xl/hg a]nfptL s='rdf/ 070.10.1 d= 128

3 ddtf xl/hg demufjf 2 levf/L rdf/ clgtf rdf/ 2070.9.10 d= 144

4 lzjfgL xl/hg demufjf 2 ;'vf/L rdf/ ;'lgtf xl/hg 2072.11.18 d= 19

5 s/g xl/hg demufjf 2 levf/L xl/hg clgtf rdf/ 2072.10.5 k'= 138

6 ;Ghgf kf'L demufjfF 5 /fdlbg kf;L lutf b]jL kf;L 2072.11.23 d= 140

7 lzjz+s/ wjn demufjf 6 /fhs'df/ wf]aL efjtL wf]aL 070.5.5 k'= 97

8 /jL wjn demufjf 6 /fh]z wf]aL lutf s'=wf]aL 070.8.2 k'= 140

9 ;Gwf kfl; demufjf 6 #/e/g kfl; /fhdlt kfl; 070,10,9 d= 129

10 g/abf xl/hg demufjf 7 /h]Gb| xl/hg b'uf{jtL xl/hg 2070.5.10 d= 143

11 rfbgL xl/hg demufjf 7 #/e/g xl/hg k|ldnf rdf/ 2071.5.8 d= 118

12 g/abf xl/hg demufjf 7 /fh]Gb| xl/hg b'uf{jlt xl/hg 071.8.4 k'= 143

13 k+sh xl/hg demufjf 7 /fdz/)f xl/hg zf]ef s'= xl/hg 2072.8.25 k'= 85

14 gj/fh xl/hg demufjf 7 lht]Gb| k=xl/hg s+rg s'=xl/hg 2072.5.21 k'= 128

15 uf]kfn xl/hg demufjf 9 ;"d]/ xl/hg piff xl/hg 072.8.4 d= 81

16 /Ghgf rdf/ sf]^xLdfO uf=k=5 /fd/tg rdf/ z"l;nf rdfOg 2073.8.25 d= 126 gof

17 c+ls;f kfl; sf]^xLdfO uf=k=5 c%}a/ kfl; k"lgtf kfl; 2072.9.10 d= 153 gof

18 /fhsdn kf;jfg sf]^xLdfO uf=k=5 /fds]z kfl; Ogb|fjtL kfl; 2072.8.9 k'= 96 gof

19 kfjg kf;jfg sf]^xLdfO uf=k=5 l/s]; kfl; u"l*of kf;jfg 2071.6.10 k'= 203 gof

20 lg;f s"dfl/ kfl; sf]^xLdfO uf=k=5 xl/s]; kfl; lgd{nf kfl; 2072.3.9 d= 35 gof

21 lk|+; xl/hg sf]^xLdfO uf=k=5 /fd" rdf/ lznf xl/hg 2071.1.28. k'= 32 gof

22 /flwsf xl/hg sf]^xLdfO uf=k=5 ;tgf/o)f rdf/ s+rg xl/hg 2074.7.24 d= 135 gof

23 /fhgL xl/hg sf]^xLdfO uf=k=5 lht]Gb| k=xl/hg s+rg s'=xl/hg 2073.11.2 d= 132 gof

24 c+l;sf xl/hg sf]^xLdfO uf=k=5 dgfh s"=xl/hg nlId xl/hg 2072.1.3 d= 122 gof

25 cg":sf xl/hg sf]^xLdfO uf=k=5 dgfh s"=xl/hg nlId xl/hg 2074.1.2 d= 123 gof

26 gGbgL s"=xl/hg sf]^xLdfO uf=k=5 uf}l/zs/ rdf/ pld{nf s"=xl/hg 2073.9.28 d= 17 gof

27 sf}lzNof xl/hg sf]^xLdfO uf=k=5 uf}l/zs/ rdf/ pld{nf s"=xl/hg 2071.4.20 d= 102 gof

28 ;Ghgf kfl; sf]^xLdfO uf=k=5 /fdlbg kf;L lutf b]jL kf;L 2072.11.23 d= 140 gof
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